BC-02
December — Examination 2023

B.Com. (Part I) Examination

COMMERCE
(Business Statistics)
Paper : BC-02

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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State any two measures of Central Tendency.
H54 g & HIE S AT S|

What is Primary data ?

mafHE R T ?

What is Questionnaire ?

e F % ?

Define Correlation.

e Y 2

What do you mean by straight line trend

value ?

A 3@ I Jed § ST = FHed © 2

BC-02/7 (2) TC-451



(vi) What is ‘Time Series Analysis’ ?
‘w1 goft faeemor’ @ ¥ 2
(vii) Define ‘Probability’.
‘giferRar’ w1 aRefia swifs
Section-B 4x7=28
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
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2. Explain various sources of primary data.
mafaes v & fafy= |kl = 99emEn)
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3. Calculate ‘Mode’ from the following data :

fr= sffhel | ‘ogets’ &t TUET HifST

Marks obtained

No. of students

0—10
10—20
20—30
30—40

40—50

12
17
31
22

18

4. Calculate rank correlation coefficient from the

following :

e | wifc Fg-TwY U A1d &I :

X Y
34 27
39 22
41 32
27 20
48 41
37 28
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54 47
25 53
61 33
60 44

. Explain the utility of Time Series in Business.
R H e ot T F ST ¥ 2

. Why Fisher Index is called Ideal Index.

e & a1 ARY Yahi® Fl Hel S § 2
. State differences between Dispersion and Skewness.
sTafRTor Te fauAar § SRR T Hifee |

. Find the probability of getting 53 Sundays in a

leap year.
& efest § 53 aer e T wfaewar I wifs |

. Find the probability of getting 10 or more in a

single throw of 2 dices.
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Section—-C 2x14=28
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. Differentiate between classification and tabulation.
TR0 T GROMET H A T hifoT |

11. Calculate straight line trend value by method of

least squares :

= o fafy g W @ Swa ged 91 I

2018 2019 2020 2021 2022

16 18 14 20 12
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12. Calculate Fisher’s index number :

AR &1 ok T HifST

Item Base Year Current Year
) (40) (1) (97
A 12 30 18 37
B 16 32 17 34
C 14 28 15 39
D 13 31 12 33

13. State the properties of probability distribution.
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